Rosyth Scliool
... Preliminary Examination 2012
Pritnary 6 Mathematics -

Nemet.. Reégister No.
Class: Pr6-___

Date: 23 August 2012 Parent's Srgnature

Totat 'ﬁme for Bookiets A and B: 50 nunutes

PAPER 1
(Booklet A) .

1. Do not open this booklet until you are told to do so.

2. Followall instructions carefully, y

3. Shade your ahswers jn the Opfical Answer Sheet (OAS) provided.
4. You.are not allowed to use a calculator

5. Answerall gusstions.

Section | Mammum Mark ‘Méﬁ(ﬁ_Obtained
Paper1 {(Booklet A) 20

* This booklet consists of 7 pages {excluding this covéer page)

L4

* ‘This paper Is not to be reproduced in part or whole without the permission of the Principal.
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Questions 1 to 10 cany 1 mark each. Quiestions 11 to 15. canyz fwarks each, For each
question, four options are given, Oie of them Is the comect answer. Make your cho:oe
(12,3 or 4).~Shade the oval (1, 2, 3. or4) on the Ophca! Answer Shaet.

{20 marks)

1. Find the puotient when 6024 is divided by 6, e

M 14
@ 104
(3 1004

@) 1044

2, Chuis starts counting 910 79, takmg one second to say each number. Mow long
: does he 1ake to count from 8 to .78 altcgether?

(1) 1 min 9 sec

@  1rmin10sec
. @ 1min1isec

(4)  1min 19 sec

3, é*%*%"‘ 7{x3
)
5 1
m 1
1
(2) z
1
7y L
(3 B
. ;o
o 3

1 o (Go on to the next page)



4. 3 hundreds, 9 fenthis and 5 thousandthsis | 7. |.

(1) 300095 |
(2) 800005 LT T e
(3)  300.950
)  390.005

5. The solid below is painted blue. How many cubes have-3 faces painted p_’_lzi_e‘?-

M 8
@) 19

(3) 27

@ 4

-
-
-

[

2 S (Go on fo the next page)




How many faces does the following solid have?:-

(1) -5
@ 7
® @
(4) 10

Juhana had $800. She gave $40y to her son and the remainder was shared equally
among her 3 daughters. How rouch did each daughter recelve?

(1) $(75°)
@ 5(59&;-‘—‘9’—’)

3 (800 “"”)

| I3 '$'(aoo ~ 120y)

3 - . (Go on to the hext page)



Arun was born on 13 April 2003,
‘How old will hie be on 13 November 20122

1) - .9vears 7months - L
@ 9 years 8 months
(3} 10years 7 months

{4) 10 years.8 months

- The graph below shows the points scored by pupils who participated in.a Math
competition. 2 points were awarded for each correct answer and 4 point was
awarded for a partially correct answer. What is the max:mum number of quesnons

" answered correctly by $ul;ng? T e ) ' '

- Polnts scored i a Math Competition
25
(i) 8
@ 9
{(3) 16

{4y 1-7

4 (Go on to the next page)




10.  Sharon's luggage weighs 12.8 kg. Muthu's luggage is 940 g lighter than Sharon's.
"What is the mass of Muthu's luggage?

2

@
4)

Aikgseg
11 kg 3609
18kg24 g

13 kg240g

11, Asupermarket had a promotion that allowed an exchange of chocolate wrappers

for free chocolate bars.

Promotion: Great Exchange

Exchange 4 chocolate wrappers for
1 free chocolate bar -

{Linited 1o one time exchange only)

" -Menasha had 256 chocolate wrappers. What is the largest possible number of free
chocolate bars that Manesha could have exchanged?

(1)
@
3
)

51
52
64

- B8

5 (Go on to the next ﬁage) |




Q!
2y
3)

(4}

11°

1o

14°

1o

o0

13.  Given that 40 % of P =25 9% of Q, what percentage of P is Q7

(1)
@
&)
(4)

15 %
62.5 %
65 %

160 %

(Go on to the next page)




14. The figure below shows ¢ rectsng!éABCD E is the mid-point of BD and Fis the
.. mid-point of BE. Given thatthe total shaded area ts 14‘{ om and ihe iength af A[) is
21 om, fmdtheiengthofDC | - o e

21 cm 3
E |
()] 14cm
T O
{3) 28 om
1)y  42cm

16. Miss Sum covered iofthe journiey at an averége__sp%d of 60 kmvh for 33~ hours.

She continued her remaining joumey at fihe same speed. Find the dssiance of her
: remaming joumay,

(1)  105km
@ _ 210km
® - 315 km
@ sskm

R " ‘GoontoBookiets






: A.-Frelimina'ryExmmaﬁiongﬁjz_.. S . _
Primary 6 Mathematics

Nempe; .~ Register No.

Class: Pr6-__

Date: 23 August 2012 Parent's Signature: ___

Total Time for Booklets A and B * 50 minutes

L

PAPER1
. . . (BooKetB).

Instructions to Pupils:
1. Do nat open this bookiet until you are told to do so.
2, Follow all Instructions carefully.

3. You are not allowed to use a calculator
4. Answer all questions,

“Section | axmumtark | Warks Obtamed
_Paper 1 (Booklet B) 2

- * This booklet consists of 7 pages (excluding this cover page)

This paper is not fo be reproduced in part or whole without the permission of the Principal.






Questxcns 16 $0.25 carry 1 mark each Wnte your answers in the spaces
“For questions which regquire units, gwe your answers in the unils :
Do not write

' provided.
stated.
. (10 marks)  {in this space

16.  What isthe length of the pendil as shown in the figure below?

' Ans:

17. Express 7%iitres_-in mk.

Ans; mj

18.  Find the-smallest whole number that gives 4 000 when rounded off to
the nearest hundred.

Q@ & g &

Ans:




20.

24,

what is the drea of the tiangle BCD?

. .Ang:

19. " titthe figure below, ABC is a siaight line. Given that AB = %AI}; .

cm

Find the perimeter of a quarter circle with radius 21 cm.

{Teke = ?)

Ans!

What is the missing number in the box?

8:28=| 7|: 63

Ans:

Do not write
In thvfs space




22.  Express 588 as a mixed numberin the simplestform. ' o .
: ' : Do notwrite
invthis space

Ans:

23, % of Amy's savings i$ equal to % of Merilyn's savings.
Amy’s savings is $75. What is Merityn's savings?

Ans: §_

Shade two more unit squares to make the figure symmetrical about the

24.
‘ fine XY.

X

L I Y .




- 25,

The paftem in the box Sﬁdws' part of a tessellation, Exiend the

tessellation by drawing two more unit shapes I the space provided in

A the box,

Do not write
in this space



 Questiohs 26 to 30 carry 2 fhafks each, - Show your workings ciearly ifv-the
Space provided for each question and write your answers in the spaces
provided. For questions which require dhits, give your answers in the units
stated. , ‘ - S

. (10 marks)

- 26. The table below shows the sale of tickets for a school musical concert,
Study the table carefully and answer the question,

' Categdry Ticket Prices (in dollars) “Number of fickets sold

A 30, | 150

B 35 | - 30
e 40 )
D a5 T 30
E 56 . ] .. 1

Which category of tickets fefched the greatest amount of maﬁéy?

Ans:

Do not write
in this space




b Do not wiite
inthis space

Ans: @

28.  Theaverage of 8 consecutive even numbers is 85.
Wriat is the smallest number among the 8 numbers?

Ans:




20, 65% offhe beads in & bag are red. The r‘eé"c'_a;e blue-and green beads
inthe ratio of 3 2. There are 196 more red than blue beads.
How many beads are there in the bag altogather?

Do not write
in this space

30. Jonah had $w atfirst. He spent half of the money on junich and bought |
8 pens at $1.50 each. How much money had he Jeft? Express your .
answer in terms of w.

Answer; $ . q

Eéd of Paper

!
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Preliminary Examination 2012
o Primary 6 Matherhatics

Name:
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" Register No.

Instructions to Pupils:

PAPER 2

1. Do not 6pén'this booklet until you are t61d46 do sa.
2. Follow all instructions carefully.
3. Show your workings cleaily as marks are awarded for correct working.
4. Write your answers in thj‘s'béaklet. '
5. You areallowed to use a caiculator
6. Answer ali questions.
Questions B Mammum Mark | Marks Obtainéd o
Q1ito5. 10 1
Q6to18 50
Section Maximum Mask Mérks Obtained
Paper 1 40
Paper 2 60
Total: 100

* This booklet consists of 18 pages (excluding this cover page) |
This paperis notio be reproduced In part or whole without the permission of the Principal.







A Q‘u&sﬁans 1 to 5 canry 2 marks each. Show your working cleatly in the space
provided for each question and wiite your answers in the spaces provided,
o For quesﬂons wh}ch require umts gn.re your answers in the umts stated

k .(‘i"(') 7&3&&3}

1) Theline graph below shows the change in the merchandise export of countty Y
for the past 5 years Study the graph and answer: quest:ans {a) and (b).

Merchandise Export of country Y
Z3% il /L\
P 25 ; 1
£.20
Eus 1
g s
2 O - . - - = s
5 Year2007 Year2008 Yesr2009 Yearz0i0 Year 2011

a)  Whatis the value of country Y's export in the year 20087

Answer: $ _ f1m]

b) During which one-year period was the increase in the amount of money the
greatest?

~ Answer : From to [1m]

e ‘ {Go on to the next page)

Do notwrite
in this space



2) “Two different brands of fice are on protmation at'a supermarket:

BRAND A BRANDB
Fragrant fice " Fragrant tice -
5kg @ $18.40 . 10kg @ $34.50
per ;?acket . KM per packet )

Danctwrite
in this space
Speciat offer.for |
Brand B '_
Buy 2 get 1 free ! >

Mrs Lim wants to buy 40 kg of rice. How much will she save if she buys

Brand B rice instead of Brand A rice?

9 s

Answer : $__

{Go on to the next page)




% Thelength and breadth of a rectangle is 20 onyand 16 cm respectively. Do not write
7 ) .- . N . . ; ] ir hi }
When the length is increased by 15% and its area is increased by 4_32-%; NS space

" whatls the new breadth?

L I

Answer :

(Go on to the next page)




Ay Thefigure ismade up of a square and a circls. fd'ié‘.the‘_ca’rtﬁe of the circle. Do not write
“What is#is area of the shaded region diven, that triangte FOG has an area of -inthis space

| 16on? (Takew=3.14)

H _ , G

Ans: om?

4 | (Gd on to the ﬁekt page}



5)" ‘Theple chiartbelow shows the cost of 4 types of toys. '  I'Donotw

Them Cost (3)
Dolls 100
| Toy StoryFigurines - | 2
Tego - 500
Tamiya Cars 7

What is the cost of the Tamiya Cars?

Ans: $

5 .-  (Go on to the next page)



Questions & to 18, show your working dearly in the space provided for each question
and wnte your answers in the: spaces provided The number of mafks available is
showrin brackets [ ¥attheend of sach question or part—quesﬁon (B0 marks)

8). The figure below is not 'draWn to scaie 1 shcm‘:s ti:-:o ideniicai right-angied \

triangles ABC, DEC and a square GHFC. £ GCP = 42° and £ FCB 35°
| Find £ ACE.

R -

5 {Go on to the next page)

Do not write

in thisspaces



" Thie fickets for a circus show are priced at $150 and $§8 The rafio of the
_ number of 1 50 ﬂckets ta the nurmber of $88 tsckets i$2:3 =~ of the $150

ﬁckets and a!l the $88 tzckets were soid. The t:cket sales amounted to $78 240
"How much more would have baen co!lected ifall the tickets were sold?

Ans: [3m]

7 - | "(Gofon to the next page)

Do notwrite
in this space



T o0 g

%

The: ratio of tskanidar's savings to Norman's savings 5.2 3. They speﬁt
$865 eaclioh a present for a friend. After that, Iskandar’s savmgs s~ of

Norman S sawngs Haw rnm;h dld Norman save atﬁmt?

A (3rm)

Do not write
ifi this space

8 : {Go on to the naxt page)




Do not write

.Ioseph has four hmes as many siic:kers as Kumar. ki Jeseph gives Kumar 12-
in this space

9
stickers, Joseph will be lfeft with 18 more shckers than Kumar. F’nd the io{a!
_ number of. stte[qers the fwo beys bave _ _ - )

AL

CAns: [3m] |

~(Go on {o the niext page)



10) Tank X meastring 50 om forig, 24 emwide anid 60 tin highwas conipletely
filled with water, Tank Y measuring 75 om fong, 24 cm wlde and 40-cny high
... wasemply. When water s poured frem Tank X' to TankY wimcut splllmg, .
the heighis of the water [esvel In the 2 tanks became fhie same, -
Find the amount of water that was poured from Tank X fo Tank Y.

Ans: . _. [3m}

10 (Go on to the next page)

Do 1ot write
In this space




‘i1}

Wendy has big and siviall chickenand duck eggs in-her fam,
She has 275 chicken eggs and 225 duck eggs. The ratio of big chicken

eggs. io small duck egys is 5:2. The t:ma! numbemfblg mh;cken eggs and o
‘big duck eggs is 300 Fmd the totai number of small chicken eggs inher

farm.

O &y 4

Ans: o Bm)

41 (GG ontdthe next page)

Do not write
i this space -



12y

Mr Siew drove froim Towt X 1o Town'Y af 60 kn/h. If he Ificreased his

speed he must travel after the first 120 km so that he canreach .- . -

speed by 12 kmih, he would reach Town Y1 hour ealier. Findthe

Town Y -g-h‘eadier.

° 0y .

Ans: S Mmy

12 (Go on 1o the next page)

Po not wiite
In this space



13)

@)

{b)

Ina quxz, 4 marks wera awarded for each correct answerto a questton and 3
tnarks were deducled for each wiong answer. No points were awarded ifa
-quesiion was not anSWered The feilo\rnng table shows the tesults of 2 children
Who took pari inthie: qunz Hawever, sore ink Was split on the table so some of
the numbers cannot be seen.

Numberof | Numberof |  Points
Name~ { Wrong Questions not -{  Obtained- - -
Answers |  answered
.Aﬁth't}ny 25 0 165
Benny 13 C 229
How mariy questions were ihiere in the quiz?
How many questions did Benny not answer?
Ans: (a) {2m]
By I B

Do not write
4 I this space

{Go on to the next page)



14)

réd bags to the number of green bags inboxAis1:3.

Two boxes A and B contain 368 bags altogettier, The raflo of the nusber of

The ratia of the

L number of red. bags fo-the number of green bags inboxBis 1: 2.

There are 264 green: bags In boxes A and B attogether
How many green-bags are there in box B87-

o 8y

[4m)

14

{Go on to the next page) -

Do not visite
inthis space



15)  In the moming; the nuribér of bluebemy cupcakes baked was 50% that of Do notwite.

sb'aWbeny cupcakes. By afternoon, 20 more hlue;beny cupoakes were baked in this space

while 32 sfrawbeny ctlpcakes were ,gwen away The number of. bluebeny .

 Gigpcakes becains 70% of the number afstrawbeny cupcakes by'the
aftemoon.

a) What was the number-of ‘s_tréwbé'rry :cUpc;akéé by aftemoon?
b)  Whatwas-the number of blueberry cupcakes by aflermoon?

LI

Ans: {a) {4mj]

®  pm

15 . {Go on o the nexi page)



16)

The ﬁgtme be!ow is made apof3 :denhoal dircles and an equ:iateral tnangle

. touching the points P,Q and Ronthe c:rcle& Given that the area of the

(Give your answer correct to 2 decimal places)

Ans: ' ._ [5rmj

16 ‘ {Go on te the 'néxt.b'ége)

Do not wiite

 |intisspacs
inangle PQRisse om? anﬁ ﬁ\e d:ameter of the circle is 14 ¢, find the area - 1
of the shaded part using the calculator value of 1.




1D

?eter. June and Benny decxded to buy a present for ﬂteirgrmtémaﬂier.

e Petef agreed o conmbute 25% nf 1he eost of !he presant while June agreed to

- pay 30% of the feinaining amGunt. The rest ofthe cost would be paid by Senny.

a)
b)

When the cost of the present had increased by 20%, Benny had to pay $1 00.80 .

fdr his shate,

What was the original prié,e 6fthe present?

- How much did Jutve-have to pay in the end?

l“‘ng

| {b) I | fzm] |
17 " (Goonto the nexi page) |

Ans: {a) o _{3_;:;} i

Do nét write

in thfs-space




18) Twobuses X and Y left ABC interchange at5.35 am.to pick uji passengers.
They travelled at an uniform spée&‘ln 'oppas&e directions round 2 5’5’ K |

- mrcular route. Bus X took 50 mmutes fo- eomplete each: round, Adter every 30 .

N mmutes ﬂle wo. buses would nieet’ At what hme weurd the two buses meet -

at the interchange agatn'?

00..

Ans:__

~ End of Paper

_[5m] |

‘Do not wite
in this space

18  {Go on to the next page)




Answer

- -~

EXAM PAPER 2012

SCHOOL : ROSYTH
SUBJECT: PRIMARY 6 MATHEMATICS

-TERM : SA2. .

0L1.02 ] 03 | 04 [ 05 ] 06 ] 07 [ 98 | Q9 | 010] 011|012 013 | Q4] Oi5
3 3 1 2 1 4‘ 2 ‘ 1 1 2 3 3 4 . 3 3

16)7.2cm 17)7375ml 18)3950 19)42cmz 20)75
21)18 22)522/25 23)$70 . 24)
25) .-

=

26)category B 27)84° 28)78 29)700 T 30)$(w/2~- $12)

Page1to 11 : page 1



Answer Key





_g;}' ROSYTH SCHOOL |
NAME_ ‘ o CLASS g | ‘ DATEZ'ng/’b :
 SUBJECT mﬂn ?@{K}r)/ CDWCCW)T\S | GROUP

Year S ¢ 2 20 20 wilign

A LNE 39 willion

yedr 2997 2 30 wiliion

A 2010 7 19 wilivw

Year 4,011 = 195 eyt

34

14 M\H %3% M\\\ | -
(07| By 30F 35 0¢
AW
1A 20 3D Milin 20willin = (5 Filiiv = \MYW\N
200K B,200% 7 35 miion - 1omilli D = 5 milivn
1 20\ o 200 S\AM\\\\\N\ Il = L\;MI\\ m\* ﬁmccm
L | biandh 55197 J15-4% T,

¥ Uayg 3 1g-4uxs

SN

biind b 3 19Kg 3 138 9% X3

SR % *’B% ST FIRY

1039y

AVINVE SR SEENDINE S\,; RV

"‘?bl{ﬁ TFQ 'ty

AR *4& 30




L> /- W

B2 1977 12 X _
c PR XY ¥ .

ALA IRV JLRw

NN AN PN

1443 W csmx\%%/ S

= 320X 9% X©% ] “r‘@

A -
f)*‘(:i%%*@? 20/

A I omn . )

i

fred O IQUAIR S 16X4 =& —

Jiag (1](50.\}\(“\; = e = ¢ -

DidmgTey of Quok &

adiuy o f ALelS 3 552

higa of agadiant 3 44 e

= 196
deiq ARG IS ~R-94 = 4%
A= 34y
Toy S‘f\ﬂ\ﬁa,
Tamiya = 2,
PAlSTIRGY \ %‘F B
RUVTIONEINY

3 3004 = 3r‘5




P6 Preliim. 3012 - DR L
Paper 2 Answet Key 2 ' e = R

'C:)

L :".l"‘i""' .

LA

R

Ij'.

Look at. Trisnigle ABC: o
. £ ACGF=:90° - 35°. {Rzghf—angled tnangle ABC)- S
=550 '
Look it sqisdre CFGH
£ GCA = 90° - 55° {using the square)
= 350
Look at triangle DEC:
Z ACE = 90° - 42° _ 35°
= 1 30 .
._'M-C‘O_SM_P\R?IMCL Covu.o_pf

8) Balore T: N  Diffrence
| 2: 3 1 . )

s unair e f

Ater 2 : 5 3

Since each spent the same amount, the dnfference ce fust be: the same
Before [ N Difference
6: 9 3
-$865 l l -3865

i After 2 : 5 3

L)

6 2 4 U ———3$865 1TU 35864 + 4 = $216.25
L }$21625x9-—§19462




-
]

TR

H ﬁsﬁrgjﬁ? o
L Ee

b, B

1
.‘,.
it

* b,

T Ea 4y
A

SN

9)
31 12418412 = 42
1y—s 42+3=14
5U-—- 14x5=70
10)

500m ' 75cm
Vol of water in Tank X = 50 cm x 24 cm x 60 cm

=72 000

Pour some of water from X into Y until they réach the same helght in both containers
New water level = 72 000 + [(50 x 24) + (75 x 24)]

60 cm —24.cm =36 cm
36 cm x 50 cm x 24 cm = 43 200 cm®

11)

Chicken eggs | Duck eggs ' Total
275 | 225 1500
Big 5u 1300 — 5u 300
Small_ ‘ 2u

Method 1:

300—-5u+2u=225
3u=75
fu=25

LI B

5 x 25 = 125 (big chicken eggs)
275 — 125 = 150 (small chicken eggs)




A&érﬁaﬁv‘é Histhod: ..

| éhicken — “Tducks

Ttotal

total_ 1975 7225,

1.500

No of Unlts(smp!est A 1Mu o 19U
form)USe calculdtor—- | - i \}__ .

20u

Big~ __  [&u. o SlEm, T

(Sman " Ten (2u,

...-{‘

i&céb_;‘(*-l'zij)"— '

Bu+7u> 20
120 >-300
By -> 300+ 2 =150

12) dastance travelled is the sartie 5 mVé‘rse' proportion

l4S; ged : N Sgefejj
60 72 -
=5: 8

1Old. Tine - New, Time
6:5 . -

leferenee in tlme 6u 5u=1u
: . 1 uhit =1 hour
-6 uhits = 6 Rours, -

- Total Distarice travelled = 60 knivh X 6h'=.360 kiy

(new timé) —5 6h——h 5 h
(Tinve for 120 km) ~—a 120 km + 60 kmlh 2 h
(titive loft). —s 5§h.~“—-2 h :3; b
(Distance Teft) 360 kmi — 120 kni = 240 krn

._-_(-Spjeed) ____> © - 240k + 3-;-_h'= 75 kin/h

13) (a) total marks deducted —> 25x3=75
Total matks if alf correct —> 168 + 75 = 240
No of gris answered cofrectly—s 240 = 4 = 60
Total no of gns — 60+25=85




A
gl
tedl.

(b) marks deducted —> . 13x3=39
Marks if all gns are correct —» 229 + 39 =268
No of gn answered correctly._» 268 +4=67
- No of gns.notanswered —>.~  856-67-13=5

Alternative method:

<4
Pt Y
| | = &)
_60 .. correctgns 1 240m
25 wionggns _~ x % Cale78m
L o 165m
85 total gns
-~ i
67_ correct gns _ 268 m
- -39m
13 wrong qns x g =
. ' T 229m
__totalgns .
- 85-67-13=5
14) Method 1:
. .BoxA . Box B
R:G R:G
Tu: 3u ip: 2p
264

368 ~ 264 = 104 (Total no. of red bags in Box A and B) (M1)

u+1p=104 — (1)
(X2 ——» 2u+2p=208 —— (2)
3ut2p=264 —» (3)

(3) -2 ——»lu=56

2(56) +2p=208———— 2p=06.__




4 +3p St 368————-{1) ' TP
3U +Ip; i I (D) Bog® R G-
(1) X 3: 420+ 9p ~—> 1 104 : - .

(2)x4 12u +8p ——» 1 056

Take the. dlffereﬁ(:e P 1104 = ‘]056 48
- ., 482596

15) . B S. - B §
- Affirst 10 2u 10u 144"
' +20. . -32 +200 . -274
Attﬁ-eé'nd- 7p.. 10p- - - S 70p 769
14u.~ 224-1eu+200 _
4u.= 4294 ' a ' :
Ty 106 | [

2 Stfawbenyézst 212 -

b)  Blueberry > 106 + 20 = 126

or 1u+20%7p (1)
2u—32 =10p (2)

(1) X 10: 10u+200=70p
(2)X7: 14u—-224=70p

Take the differénce: 4u =200 + 224

=424

u= 424 + 4
=106
7p =106 + 20
=J_2;6- )
(Blueberry cupcakes by afternoon part b answer}
10p=126+7x10

=180

(Strawberry cupcakes by afternoon Parta answer)

(a) 180
(b) 126




. 18) Areaofonesmalltnangie 60+3=20 . 0 € ceubre afcwde,

o Areaof one cifcle = mx7x7=49n ~" = T lfadlws “ Tcim
Area of 2 segnents = cirgle - big &

= 49 it — 60 = 93.93804003

Aresc ol | segnent '

=93.93804003 = 3 = 31.31268001
Area of clund(.o\ port = Segvent - smau A
= 31.31268001 ém? - 20 cm? = 11.31268001 cm?




%7)

D Peter@b%)

Total-cost < .
*Remainder (75%)<

Method 1. -

. POter il 25%

s+ 30% x (100 = 35)% = 22.5% (of total).
Berirly —a— 100% ~ 25% —22.6% = 52.5% (of total)
52.5% ~—i—u—s$100.80 ).

100% sssossonns $192

120% ———muh $192

100% . —ss—ep $160 .

o s, 4




b)

100.% e $192
$192

Lo 22% TR 20,65 $43.20

‘100

Method 2:

120% -'—"—'-"'—"P $10080
$100.80

T5g X100 $84 (paid by Benny at first)

100% —

70% — 5 $84

100% ————» % 100 = $120 (Remainder)

75% ——» $120

3120

o 100% s 75 = $160

b)

18)

100

70% ——— $100.80

30% ———* $—,17—(239- 30 = $43.20

o

50

_ SpeedofbusX 55-'-56 =66 . -

Distance covered by bus Y=55- %%x 66 = 22
30
Speed of bus Y =22+ —6-6=

6644 32

Starting from the intercﬁange,. they would meet again-'whe,n bus X has
travelled 3 rounds and bus Y has travelled 2 rounds. - -

L

Time taken by bus X = (55 x 3) + 66 = 2% |

2—h
2

6.35 am, ———» 9.05 a.m.
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